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1. There are 200 quastions in all, cut of which 50 questions are on Mantal Aptitue,
50 questions are oh Physics, 50 questions are on Chamistry and 50 quastions
are on Mathematics / Blology.

2. Questions in Mental Aptitude, Physics and Chemistry are compulsory for
all. Out of Mathematics and Biology Sections, you are requested to answer
any one. _ : '

Duration of the Test : Twa hours

Mo. of questions : Mental Aptituds-50, Physies-50, Chemistry-50, Mathematics or

Biolagy-50. Fd

Mathod of Answering the Questions :

In this test, for each question four suggested answers are given, of which only ONE
is correct. You are to find out the correct answer and indicate your choice by
blackening the corresponding circle on the OMR sheet. For exam ple, if for quastion
Mo, 1 the comrect answer is (C) then blacken as shown balow.,
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MENTAL APTITUDE |
Questions : 50 I

L] s —

1. Fuinting 0 a photograph, a wdman says. "This man’s son's sister is [ny
mother-in-law", How is the wdman's husband reldled to the man.in ihe phmcgr‘ap.r )
(A} Grandson (B} Son (C} Son-in-law . {D) Mephew
Direction for questions 2i5: -

In each of the lollowing queslions, a pair of words is given. You aré"ﬁ:ﬁ"ﬁtqa}‘ the relation
exisling between them and then find out from the. given allernatives, the pair ol .wur-:.'s tha!
bears the same relation between tham and indicate that on the answer sheat. :

Questions : _ | i
2. Fatigue : Resting :
(A) Overweight: Dieting. - ..., - g2z s(B)-Ward : Comfortable

(C) Sporadic: infrequent -~ _ (D). Elevated: Exalled’
3. Trangle : Quadrilateral & v |
(A) Cube:Tniold v . 7 . . (B)'Square:Reclangle &
(C) Trident: Trapezium - & (D) Pentagon : Hexagon
4. NumismalistsCoiRs 77~ i - s
(A F‘hiiatltﬂ;llst‘ rStamps ~ T ! =) Je'.r.leli_la{.:Jewﬁle{ |
A=y Caritngrﬂph‘gr‘ﬁ M?ﬁils*r '_:__"' 1 : - {Ll_::’}._{:ier?egncist :-:!'.‘J'liru!m::rsar'ne.s

y o, . ;
5, Toxtile Ml [ 1 Ll edesy e P 2L _
4} Eggs: Hen _(B) Goal:Mine (C)Food : Agricullure (D) Brick : Kiln

—

S PRy

i -
—— o
el i - i

immoves # L+ Esstdirection and then tuns 1 his lefl and then moves 15
6. RAahim moves 20 metresin East ﬂll_'Ethplle}ﬂd f[hen_’ﬁurn:s'tp ltand the |
metres and then hejtums td hiZ Hight and moves 25 meires.-After this he lurns 1o his
fight and -oves 15 métres. Now haw fai is hefom bis Starting point? |
(A) Ometre (B) 40méves | k) a5metres (D) 50 melres

. Direction farqufnm" ong 749} ﬂ;&% d PN JACRI EWemree

ifs -garigs pro oruing to-a ceriain ruie. : .
mémfegiﬁ::g e o 6 ombers afe arranged and find Gut the rurmber which can i
in the LAST blank with ihe % mark from amadng the suggested answers.
: =+ P !

o el T Y

Questions: b m é -..__1..5; d . ;
. 301 201 282 27
! Eﬁ] 265 (B) 268 (C) 270 ADY267
GO-ONTO THENEKT PAGE S oUi8 A 1
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LTt il

.2 & 1w 1 o’ 'éé ?
(4} 00 (B) 130 (E} 88 . SR 15.

e SR

TG Wthe first da'_.r of Ihe year "L"'-"“'IET than 1‘1E Iea.p j,.raa.rj was F’nday. [".IEI"I whrch '.-unl be the
iast day of that year 7, -
i (A} Monday B HHZJE!:-’ {C) Saturday: - nr ;-J_Z.PJ. Eunday: LR
T : 16.
i Direction for questions =20 A ] .

..... cFa bt B it I oS f P e s 20250

S In each of e foliowing guestions there are hguraa THH."I:- olthizim are simular i in snr'he
BT respect while cra is :::In:ffa-'ant Seluch the figuiewhich i3 DJFF'EFEEM oh :

U e . .
f' "":|:I-.I- 3 £ ﬂiﬂﬂfﬂﬂﬂ' et ; : ' DEALL

. .13': - .Il'.j!:' - . : - ____._. : .rl!."'."..ll:i ; :-.:.'. ES | *y 17.
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18,

19.
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e el Taa | o il
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:E;'*.: . _— _ : ’Lf-!-i'—‘lﬂ@ﬂ.'[‘-un vl oo ageil
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s : A . e e AL
, im0 ; T B ros Ve e

S tﬁj = SO _EBE (A e

GOON TOTHEINEXT PAGE ' &

Scanned by CamScanner



{B) Mone of thysg PROBLEM FIGURES

=

[

o) g3 15 O
R T T, -
iy, Men which wil o fFiz '

A0 Eum.a!fl 14153

libein s oy 'I1 f
BN si e e

bt IR O P N ;
L H R T | .

oy
14, EH
J AP

a0
a@ GD o) B

‘Rp 13j O DDH W

[1BED

a?ﬁ
1

i o, )
T TEA ] oy i

Scanned by CamScanner



21. lf'man’is called ‘girl, 'giri' is called ‘poy’, ‘bey is calied fady’, tady’ is caied butlsy
and 'outler' is called ‘player, whe wili szrve in restaurant? ¢
gﬁr)/P_iayrer- - (B} Butler ——(C) Boy . (D) Lady

Direction fnl:'F&.EEIFEJ"'._IE 22_—':‘.?;'.7:

All the 30 students of a class {ook a teston 'M;ﬂnematics and a test cn English. The
foilowing tabie shows.the result: A P R

i e e Y e Fr g - a4
Subjech== : l PEEE:EE‘J aged: (o . A
Mathematcs | |~ 25 gl e v o
S T e I i N
* Two students failed botn if Malnemalics and English. .~ &
Questions: =~ . _,;"_"'" N ki o f..ﬂ"'q G
22, How man'_n.a aluder‘ts faitéd in :::nf-; one s.miec:{'? VoW s :
(A} 28 _'-_— {E.} P T s l el L= ;e{;g
23. How. m:any ;tudenﬁ passed.in at least-ane subject?-  — — —-
) 28— —— —{E} - e S CLE RIS | i Bl a7 B
24. How miany students PdSEEd in buth the subjects? = )
28 1% € myos? Y, (27 R T v 1 [
25 llina EEI‘I:.EI[‘I Ia“‘nguaga T[GEH is coded as HluE"[ |'ID1."|.’ is 'CROWN' coded in that
j}}dE:qHD WC T (B NOWRC™ ™7 {G] RAWCO ~ {D) NOWCR

Direction for quesﬁfm's 26-30; . 1, ¥

Read the | Dll-ml'u'mg information toranswer lhe gwen questmns

e ——— el

) There is & graup of five pérsons A, B, DandE.

i) Oneofthemisa horticulturist; ongisa priysicist, one =& jr::urnaf 15ty one is anindustnalist
and one is an advocate. " ‘ .

i) Three of them - A,  and advocate prefer tea o cuﬂ’eu and h-.lu of them - B and the
journalist prefer cofiee fo 1ea .

iv) The industrialistand D Emd A are friend of one another but two of these preler mﬂee
to tea. -

v) The horticulturist is C's brother. % ﬂ A H_f,{,

C>T
mi’& ou 18 .%‘T‘EFD g GOONTOTHENEXT PAGE

‘HorT -
I 4
lad® o :
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Questions : - FW' _'_é-—-——*‘_ EFUE R
T o Wi T
26. Whoisa hnnmﬂTﬁfnsu 3 e e
Wi ' BB (€ ¢ i (D) E
27, Whois an indusirialist 7 = |

A-E B) C pffa i, | -

2 H o WA ’ ; ' ; .
28. W :ETEt -:.T:-Hl::.'nﬂg JronDs I"'IC'IrJ[[E!E..i |:|:_=,- son who ikes tea bul is not an advocate 7
: (B} D.E {5 BD (D) BCD

28, Wheis a phygi;ist 2 i '. fo- e I-_.;._,;_. i T

W& Lo By C.. & I'.E] D .‘_I _, {ﬁ] ?E
30. ‘l.ihliv:::ﬁ{-the _s_tatemenm-;?uvﬂ s auperflu:nus inorder to anawﬂrthe ahove questicns ?

( 1.’ Iy ORI |:_E'1.| |:|||:I v (C) I:.II::I b o I:'ij} V)
31, 11BAT =40, AT = 20 tHen CAT wit be equat” ~~ ' S,

Eequauu _ = S 4

o V-0 GYeo-, -t [ (D)30 :nr W

Direcﬂnn for questions 32 — 41- - L 1 51 s

In me problem Figures, the first two flgures. bear a definit h ] ;
i firs te relationship with each
and the third Esgure bears the sama relation with ane of th g vk

Figures, marked (A), (B3, {C) and{D).
Questions:

& four figures given as An swer
indicate the correct answer

PROBLEM FIGURES

Rt T it

ANSWER FIGURES
TR 2 g ""%
A N —...t f FJ | 2

&\[t;f
1al]

- iy s e ) 1_ Al
ST S el A D

P et = N = ]

33 O [ ) 'Y @‘ - i

[l | L'[—I : ] [ﬂ‘“-*’{.! : o Q i_ff,;*ju
S 2

=
Fh
s
Bl
i
£
1
o OO -

GO OM TO THE NEXT-PAGE: Ol 18
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PRODBLEM FIGURES

« AV @] 7
« (@O
! ,._.._"__LL

ANSWER FIGURES

|E~;~=‘? ]
E‘a SIORY

........

13.&!* i\h |

r
10, f B ) :
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B ¥ % gl {%ﬁ"b L
. | ?,fj
2

T J- 5 _'. i '_ y . : W1
42, I + means «, means'-;'%_ﬁ‘u'e}ans w» and - mgarl'is + t_hr:]ln, ik ﬁ..t?..!
B+bBxd+3 -'_4 =7 ¥ (L T it 1 : {D} L :
f TE (B) - 20/3 (€) 1 e 9

Directicn for questions 43 - 45: | |
' rs hrd given: thri alike
n each of thedollowing guesfions, fouf groups of lelters a_n!:-:gll_n!ren. thriee of them are aiix
i a cerlain way while ‘'oné'is different. Choose the ODD nn?;

T RETE o T | 1
i i

A
...Hl.--'_:—li.- LH LR T L L

Questions : . gk vl b BRI R
43. (A) FIL - ;@ﬂ%ux (C) ILC (D) LOG

44, (A) AZBY ,&E‘ PTQS “(C) CWDV: T E ':G;t]HH'

45. (A) NEXFL  (8) LANCP - (C) FRGSE, v (D) ZGPKU | -

AE.' In a row of 60, A is standing at 10" from the right end, how mmy'-plamﬁ shoudd A
move left ward 1o become 237 from the left end?

(A) 25 (B) 28 (&Y 27 . (D) 28 P
Direction for questions 47 — 50: o _ 75 .' -
Each question is followed by two stalements (1) and (2). l @"? o
L
Indicate ? ) “ 23

(A) if Statement (1) ALONE is sufficient, but Statement (2} alone is not sullicient 2
(B) if Statement (2) ALONE is sufficlent, but Statement (1) alone is not sufficiant

(C) if BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is
sufficient :

(D) if statements (1) and (2) TOGETHER ara NOT sufficient

' . f_. .
Questions: _ e L. +
47. I 2FY =~0,isx<07?
: (A)
(1) x<y
(2) z<0
GO ON TO THE'NEXT PAGE’ '-¥ ou1s A" 4
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An,

0.

E

»
W g in the perimeter of rectangle 0, what is the value ef p 7 g% &
(1) Each dhagonal of rectangle O has length 10, P
I The area of rectanglo C is 48, f //

. In a sehool, 300 studants study Hind or Urdu o both, B 100 of these stiudents do ot

sludy Hindi, how many of (hgse students study both Hinds aod Urdis 7
(13 Of the 300 students, 200 study Hindi or both langusges,

(2) A total of 268 of the students study Urds, | 1) _ 407
- 4 ]
l'“},} -
i m i aninteger, is m odd 7 y i i -‘-’-*’*ph
m = ’ y 7
n 3 ?!‘!D]’_mwgﬂﬁ&gﬂ. fé’
(2} m=3is an even integer,
oUie A, GO OM 7O THE NEXT PAGE
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PHYSICS .
Question : 50 7

5l

| force (F), velocily (V) and tiine (T) ara taken as fundarnental units, then the dimengion.
of mass are

Ay FVITH (B) FVT

(€) FvIT (D) FYTZ

If the error in measurement of radius of a sphere is 2%, then the error in the
determination of volume of the sphere will be

(A) 2% (B) 4% (C) 6% .a{ 8%

A particle Is travelling along a straight line OX. The distance x{in meters) of the paricie

from © al atime tis given by x= 37 + 27+, where tis in seconds. The disiance ﬂT".‘.‘-":Ei__, o
particle from O when it comes 1o rest is =377

L
(A) 81m (B} 91 m ; /@}’1{11 m (D) 111m -
| 54

3.

Value of ratio between cross product and dot product of two vectors is 1/43. The
angle between two veclors is

(Ay 300 (B) 450 (C) 60° (D) 120° 8.7 "’:

A body of mass M hits normally a rigid wall with velocity V and bounces backwiththe -
same velocily. The impulse experienced by the body is '

g
(A) MV (B) 1.5MV (C) 2 MY (B Zero

56.  For an object sliding on a plane, the force of friction is less if the plane s inciinec,
instead of being harizantal

51 =
(A) because, effective mass decreases .(B]/I-:recauw. normal force decrasses Faf
(C) because, co-efficient of Iriction decreases

{0} for an angle of inclination B, friclion is inversely proportional 1o tang

57. If a body travels along a circular path with uniform speed then its accaleration Lh
(A iszero

(C) acts along its tangent

-
-
* §

(B) acts along its circumference
_ABT acts along its radius

A lorce is acling on a mass ol 6 kg. Dispiacement x of the mass is related with trme ¢
as x = /4 meter. Work done by the force in 2 sec. is

B3 (B) 64 (€) 9y

GO ON TO THE NEXT PAGE

ou 8 A
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59,

61.

63.

' 6.

67,

10

* (A) a pressure acts on the body

1
'} |12

e
A particle is praramlnm th le of 600 wiy,

% with kinetic energy-"al an ang
the horizental. Its kinetic energ

t the highest point of its motion will be
(A) EN2 (B) Ef2 + . (C) Ef4 (D) E/B

Power required 1o raise a mass of 120 kg vertically upwards at a velocity of 4.5

m.s1 is ‘((
(A) S5KW ) 5.3 kw (C) 8 kW (D) 11.2 kW

A body falling verlically downwards under graﬁ.rity'breaks in two parts of unequal
masses. The centre of mass of the two parts taken together shifts horizontally towards

'{.ﬂ.} lighter piece | : hgauier piece
(C) depends on the vertical velocity at the time of breaking s
(D) does not shift horizontally

Angular. m;:.-mem_‘LJm of a moving body remains constant if
 +(B) an external force acts on the body
(C)- anexternal torque acts on the body (D) no external torque acts on the body

ent of inertia of circular wire of mass m and radius r about its diameter is

M
(.;;m e mire (B) % mre (Cy mr2 o (D) 2mr?

If the diumal motion of the earth ceases all on a sudden, then the valua of th

- acceleration due to gravity of a body at the equator will -

(B) bezero

(A} remains same
(C) degrease

(C} increase

Two satellites of masses m, and my (m,>m,) are revelving around the earth in arbits
of radii ry and r, (ry>r,) with velocities vy and v, respectively. In this case

(A) vy=¥y o (B) wy<vy H(C)avy >y (D) wyfry = vy,

A wire of initial length L and area of cross-section A has Young's modulus ¥ of its
material. The wire is stretched by a stress S within its elastic limit. The stored energy
density in the wire willbe .- o . :

(A) S/2Y (B). 2Y/52,. | (C) S22y

(D) S2/Y

Which of the following works on Pascal's law?

(A) Sprayer ' (B) Hydrauliclift = (C) Barometer (DY Venturimeter

ouU 18 ' A GO ON TO THE NEXT PAGE

"
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ga. Surface energy of a water drop of radius rwill be directly prnpﬂﬂgﬁﬂﬂi}lf";,
(A) r |®) £ © 7 ©

: 9. A spherical ball |s falling with a uniform velocity v through a :‘isﬁguﬁ ;nli[:::lemn ol
coefficient of viscosity n. It the viscous lorce acting on the spherical ball| :

o
, (A) FavyandFalfv (B) Fanand Fav v
i (C) FoulmandFallv (D} FaimandFav -

70. Apparent weight of a body immersed in water at 20°C is Wy, When temperaturs I
increased to 40°C, the apparent weight becomes Wo. In this case
(A) for different solids W, may be greater than or less than W, v *
(B) W,is always equal to W,
(C) W,is always less than W,
(D) W, s always greater than W,

71. Anideal gas is expanding such that pT2= constant. The coefficient of volume expansion
of the gas is

(&) T By 2T . ©ar (D) 4T

. 72. During boiling water at 100°C, what will be its specific heat? _
(A} zero (B} 0.5 {C) 1 (D) Infinite

73. Il the temperature of a black body raises from T to 2T, how many times will its rate of
radiation be? '

E (A) 16 (B) B () 4 (D) 2

74. In a given process of an ideal gas , dW =0and dQ < 0. Then for the gas
(A) the temperature will decrease
(B) the volume will increase

| (C) the pressure will remain conslant

; (D) the temperature will increase

P~=nEf
75. Even Carnot engine CANNOT give 100% efficiency, because we CANNCOT T
(A) eliminate [riction (B) prevent radiation
{C) reach absolute zero temperaiure (D) fiod ideal sources
GO ON TO THE NEXT PAGE - CcU 18 A 11
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t??t"'.‘{h 1 "‘}%*

76, 3mol of a menatomic gas (v=5/3) is mixed with 1 mol of a diatomic gas (v = 713) The
value of v for the mixture will be:

(A) 911 (B) 11/7 (C) 12/7 (D} 15/7

77, Time period ol a simple pendulum on the surlace of the earth is T;andala height A
above the suriace of the earth is T, here R is the radius of the earth, The ratio T,,f']'E
is .

&) 1 | {"a} V2 (C) 4 (D) 2

8. When a force F, acis on a particle, fraquency is 6.Hz and when a force F acts,
- Trequency is 8 Hz, Now if both the forces act simulianeously in same direction, then
its frequency becomes : ba = !
(A) 20Hz (B} 14Hz (C) 10Hz .. (D) 2 Hz
78. When afund amental tene is produced from a pips of !c«hgth ! é:l;:uenlai h;::-:h énds, the
___vaavalengm p,_f_j:he_sta_!.i;m;_a_ry.w_awe_js

§ i e e T T

80. A source of sound with frequency 256 Hz is maving with & velogity v towards a wall
and an chserver js stationary between the scuree and the wall. When the observer iz
between the source and the wall, he will Sl e
(A) hear beats S

. (G} notget any spund
(O} get the suuﬁi:i'bf'same‘frequmcy‘

{B) hearrio beats

81. If a charga qis placed at the centre of the line joining twe equat charges Q such that
the system is in equilibrium, then the value of qis

82. If a linear isotropic dielectric is placed in an electric field of strength £ then the
polarisation P is : h ke

1 Teepelat (B inversely proportional to £

{C) directly proportional to YE © _ (D) directly proportional 1o £

83. Three resistances P, Q, R each of 2 (3 and an unknown resistance S form the four
arms of a Wheatslone's bridge circuit. When a resistance of & LYis eonnected in
parallel to 5 the “T;g}?ﬂts balanced, What is the vaiue of 7

(A} 20 ) E;!-;“ gaxs (0} 6O 0] 10
‘.1-" - * .T-'f- © 5’ =
= Wl
12 er50U 1857 AL GO ON TO THE NEXT PAGE

/’ij—\%ﬁ"‘_ ; _{%_ﬂ_____ ¢%Q+ aq =&
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g4. A heater coilis cutinto two equal parts and u:mla.r ane. parr is:now used ln the heater.
; The heat generated will now be Al WU ¥ T A
(A) onefourth  (B) halved v (C) dauhled L) {U} mur times;
85. An elecirlc bulb marked.as 50 W-200 V is connected across a 1{]{1 v sunrﬂi}f The
present power of the bulb is : ]
(A) 37.5W ((By:25Wo oy {C)<12:5 Wi - {DJ WW
86. A circular coil carrving'a certajn GLlrrEm.pmdchea a ma{:;net[c field-B, at Its centre,
- The coll is now rewound 5o as to-have 3 turns and tha same ﬂurrent s Pﬂu%d
1hTDUEﬂ‘I it. The new magnetic field at the centreis - + ey Mﬂ
OBy (T:  (B) 9Byi.- 2y (C) Bglni (o 1:_,3,59' 5@ "o
- et
L q _.-._._._.-"
&7. A straight wire of length 2 m carries a current of 10 ‘A If this wire is p1aced in &7
uniform magnetic field of 0.15 T making an angle of 450 I.'.'tth the magnetic field, the
applied force on the wire will be A (8 F= :Ug,ﬁ
(A) 1.5M (B) 32N . {C)aN mxfz N }.QW_E,;{
83, Nn::l-c;eI shows fewnmame!lc pr::rperty at room temﬂerﬂture It lhe tempara‘.’ure is (5=
increased beyond Curie temperalure, then it will show : L. 5,
(A} anti-ferromagnetizm Marawagnehsm -~ 3 2
(C) diamagnetism. o D) ne rnagnenc pmperty =
89, The rate of change of current of 10 A s1in a coil prcdwas anemfof 5V, T"‘E“ﬁ the
sali-inductance of the coil in henry is _
{Ay 05 .  -(B} 025 o (G) 104 oyt {D} 1.25 jﬁ_
90. The phase difference between the alternating c:u_rr;ént and emf is r/2. Which of the
following CANNOT oe the canstituent of the eircuit?” g
(&) LG (B) Lalone (C) Calone (D} R, L
91. An electric motor mpnrahng on-15 v supply drawa a current of 5 A and yields
mechanical power of 60 W, The energy lost as heat | in one hour (in kdyis
(A) 0.54 (B) 5.4 (C) 54 (D) 540
92. The ratio of amplitude of 'magnetic field to the amplitude -::f electric field for an
electromagnetic wave prupagatlng in vacuum is equal to
(A) the speed of light In vacuum (B} reciprocal of speed of light in vacuum
(C} the ratio of magnenc permeability lo the eleclric susceptibility of vacuum 435
(D} unity ™~ JL
GDDN TO THE NEXT PAGE . OUs1E 4 A0 . @{ﬂ? ﬁim &
f

& 5
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83.

a7

o8.

100.

14

The ratio of the speed of an object 1o the spead of its real image of magni[iga"m =
in the case of a canvex mirror is |
(A) -1/m? (B) me (C) =m (D) 1/m !

- An air bubble is contained inside water. It behaves as a |
(A} concave lens (B} convex lens |
(C) neither concave nor convex (D) None of these |
An eye speciallst prescribes spectacles having a combination of a convex lens o
focal lsngth 40 cm in contact with a concave lens of focal length 25 cm. The power of |
this lens combination will be -
{A) +1.5D (B) -1.5D (C) +6.67 D (D) -6.67 D
Two monaoch romatic light waves of amplitudes A and 2A interfering at a point have g |
phase difference of 60°, The Intensity at that point will be proportional to
(A) 3 A2 (B) 5 A2 (C) 7 A2 (D) 9 A2

y _ ;
Photoelectric emission occurs only when the incident light has more than a certain
minimum
(A) power (B) wavelength (C) intensity M frequency
If the kinetic energy of a free electron doubles, its de Broglie wavelength changes by
the factor
(AY 1h2 (B) ~2 () 12 (D) 2
The decimal equivalent of the binary number(11010. 10 1 Jpis
(A) 9.625 (B) 25.265 (C) 26.625 (D) 26.265

Application of a forward bias to a p-n junction

(A) widens the depletion zone
(B) Increases the potential difference across the depletion zone

increases the number of donors on the n-side

(C) @
} igreases the electric figld in the depletion zone % '
Y
2 | e )
o = T oM
L p , T 00
:"—-: >
%, :5?5!' . _;HJM & ﬂ'}
.;:7 . Ll 2 3 ]
oU 18 A B pAcE”
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101, When BOO g of a 40% solution by weight was cooled, 100 g of solute was precipitated.
The percentage composition of the remaining solution is = A

(A) 20.0% (B) 25.0% (C) 31.4% - (D) 500%
102, A sample of Na, CO,.H,O weighing 0,62 g is added to 100 ml of 0,1N H,S0,. The
resulting solution will be : e S
(A) Basic (B) Neutral (C) Acidie (D) Ampholeric
103. An anion X* has 36 electrons and 45 neutrons. What is the mass number of the
element X? e 1 T : ; tx il gyly '
- (A) 81 s BV B4 T At /(é'a : 11(D)-88:
104. If two particles are associated with same kinetic'energy, then the de-Broglie's
wavelength (A) of these particles is ; !
(A) directly proportional to the velocity
(B) inversely proportional to the velocity b magig
- {C) independent of mass and velocity (D) Cannot be predicted .
105. The increasing order of the first ionisation enthalpies of the elements B, P, SandFis
(A) F«S<P<B (B) P<S<Bx<F
(C) B<P<S<F : (D) B<S<P<F
_ 22 0.358 Zoff
106. ‘In the relation, Electronegativity = Sreag 0.744, ris
(A) Metallic radius (B) lonic radius
(C) Vander waals radious (D) Covalent radius
107. The species in which the central atom uses sp? hybrid orbitals in its bonding is
(A} NH, (B) PH, (C) CHy (D) SbH,
108. The molecule with the highest dipﬂiﬂ: moment is
(A) CH.CI, (B} CH.CI ' (C) CHCI, (D) CCl, -
108. The dimension of coefficient of viscosily :
(A) MLT (B) ML'T (C) MLTH (D} MLT2
* 3
GO ON TO THE NEXT PAGE ou 18 A 4% 15
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110,

111.

112,

113.

114,

115.

116.

117.

118.

119.

16°

At STP, Q. g presant In a llask wag raploced by S0, undar almling Gonditlong il
k i E?

mass of SO, prasent In the flask will bo
(A)  hall that of Oy

(C} twice that of 0,

In a revarsible process, If the changos In antropy of the systom and s
are AS, & AS, raspectively, then
(A} AS,+ AS,> 0

(C) AS,+48,=0

The volume of a gas Is reduced to half from its original volume. The specific heat
(A}, double (B) remain constan!

(€} reduce to half (D) Increase four times

Tha reaction, A(g) + 2B(g) ———> 2C(g) + D{(g) was studied using an inilja)
concentration of B which was 1.5 times that of A, Tha equilibrium concentration of 4
and G were found to be equal. So, Kc for the equllibrium is

(A) 0.32 (By 2.73 (C) 4.0 (D) 8.17

A mixture containing N, and H, in a mole rallo 1 : 3 Is allowed to attain equllibrium
when 50% of the mixture has reacted, If P is the pressure at equilibrium, then the

partial pressure of NH, formed is

(B) aqunl to that of O,
(D) eno-third of O,

aurroundy,

(B) AS, +AS,<0

(A) P2 (B) P/3 (C) F/5 (D) F/9
Oxidation number of P in pyrophosphoric acid is
(A) +1 (B) +3 (C} +4 (D) +5
The amount of H,Q, required for decolgurising 1 mol of KMnO, in an acid solution is
{(A) 1.5 mol (B) 2.0 mol {C) 2.5 mol | (D) 3.0 mol
The process by which hydrogen is prepared by the reaction of silicon, iron alloy and
NaQH, is
(A) Haber's process (B) Silicon process
(C) Wood process (D) Bosch process
Which of the followings does NOT get reduced by H, In its aqueous solution?
(A) Cu?* (3) Fe (27 Zn? (D) Ag*
The :;nmpgund which is used to extinguish fire caused by combustion of alkali melals
is
(A) CCl, /(E] Sand (C) Water (D) Kerosene
ou 18 A GO ON TO THE NEXT PAGE
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123, The comoound whose aqusous solution is called ‘baryta water is

{4} B=SO, (8} Bz0 (C) BaCO, (D) Ba(OH),
121. The optically active alkane of lowest molecular mass which is also chiral is
{A) 3-methyhexane (B) 2, 3-dimethylpentane
(C) 2-methyhexane ; (D) 2,5-dimethylhexane
122. Bond lengths of C-H, C-0, C-C and C=C tollow the sequenca
() CH<CO<CC<C=C (B) C-H<C=C<C-0<C-C
[C) GL<C=C<CO<«CH (D) C-0 <C-H < C-C<C=C

123. Nitrcbenzene is preparad from benzene by using conc. HNO, and conc. H,SO,. In
the nitrabing midure, nitnc acid acts as afan

(A) Base (B) Acid (7 Reducingagent (D) Catalyst
124. In strong acidic and alkaline medium, p-aminophenol exists in (X) and (Y) forms
respectively
o OH OH
¢ OHE @ H= a
NH, NH, EH,
Thus, in acidic and alkaline medium, electrophilic substitution occurs at
* ac 18Ya,d (C) b.c (D) b, d
125. Incomplete combustion of gasoline produces
(%) €O, L}ﬁﬁ:c} (©) S0, (D) NO,
126. Cause of byssinosis diseases
(&) fhy-ash (B) cement particles (C) cotton fibre {D) lead particles
127. Which one is NOT favourable for 5,1 reaction
(A} Polar solvent ‘;B‘,if Strong nucleophile
(C) Low concentration (D) 3% alkyl halide -
128. Consider the following reaction:
7 dust CHl ., () Alkaline KMnO,
Phenol diatiilxtian X anky. AICL, X m]":“‘
The product £ 1s
(A) Benzaldehyde (B) Benzene
(C} Benzoic acid (D) Toluene
GO ON TO THE NEXT PAGE ouU 18 A 17
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129. Which converts carboxylic ‘acids directly
(A) (LiAIH, -+ (B) Na+C,H.OH

into:alcohols: o oo b e 1
(C) NaBH (D) All of these

130. In the reaction:of acetaldehyde with aniline; the product formed is ' ..

(A) Schiff's base oA g
(C) Imine . . .
Complete hydri]lysis of cellulose yields
(A)' D-fructose ™ (B} D nhﬂse

132, Monomeérs of Buna-S ara’
~{A) Styrene and Butadiene
(C) Isoprene and Butadiene

131.

et ...'ll ! .-.

(B) Carbylamine: i
(D) None of these W
(Gj D'Qiuﬂﬂée 5 (D) L'QJUt.:Ds'e_

:+(B) Butadiene 3 R AT
(D] "u"fn},rl chloride and Surphw

133. Chemical name of dspirin i§
T (A) IMethyl Berizoate i e v (B)- Ethyl Salicylate ;
(C) Acetylsalicylic acid (D} Hydroxybenzoic acid
134. Which of the following crystal systems does NOT have body-centered lattice?

(A) Orthorhombic (B) Tetragonal (D) Cubic -
135 NaCl has face-centered unit cell. In its [:rystaJ the number of CI- ions prESEnt in

contact with a Na* jon i
(Ay 4 ,(Bé. 5 . {C).8 (D) 10

136. Which of the-following concentration umts dne& NDT depend on temparature?
(A) Molarity (B) Nﬂrmallt}f (C) Mole fraction (D) Formality

137. Ata given temperature, which -:Jne of the fallc:-wmg solutions would have the hlghést
vapour pressure? _
(A) 0.1 m glucose solution (B) 0.1 m NaCl solution
z1{G) :0.1m CaCl, solution (D) 0.1 m AL(SO, ), solution

138. Which one of the following does NOT give precipitate on reaction with lead acetate?

{G]l Monoclinjc -

(A} Hi (B) -HBr., {C) HCI (D) HF
139. At 250°C, the correct-orderof malar ionic conductances of the ions H* Li*, Na* and
K* in infinite dilute aqueous solution is
(A} Ht< Li*< Na*< K* (B) .H*-: Na*:: Li*-r: H+
(C)} Li*< Na‘*< K*< H* ; (D) Lit< K*< H*< Na*
140. The activation energy of a reactr::nn dEpends on
(A) tem perature
~ (B} initial concentration of the reactant ¥
(C) effective collisions among the reactant molecules. "
(D) nature of the reactants .
18 QU 18 &l A GO ON TO THE NEXT PAGE
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The bottle of liquor ammeonla Is cooled before opening the cork because It

(A) Isamildexplosive < ' | . 1{B) Is'alcorrosive liquid
(C) Is harmiul to lung ; . (D) exerts high vapour pressure
142. Which of the following substances furm a colloldal solution In water?
(A) Glucose (B) Urea (C) BaSO, (D) Starch
143, Adsorption of a gas 6n a =olid surface is an exothermic process, because 4
(A) change in free energy of the system Increases
(B) enthalpy of the system increases
(C} entropy of the system increases
(D) enthalpy of the system’ deczreases ."'
144. In the manufacture of stesl, the prncess in which 0, is used Instead n:n‘ a1r is
(A) Open-hearth process (B) Amdnc Bessemer's process
(C)  Alkaline Bessemer’s process - . (D) LD pracess rric)
145. The ore that does NOT contain alummlum is
(A} Fluorspar (B} Feldspar (C) Cryolite (D) Mica
146, Which of the following nitrogen oxides is icnic'? =
(A} Nitrogen trioxide (B) Nitrogen pentoxide
(C) Dinitrogen tetroxide : (D} Nitric oxide
147. Which one of the following is used as the photosensitive substance in Xerox machines
(A} Hg .. (B) Black P (Cy Sg .- - -1 (D) Te:
148. Fe2* can be differentiated from Fe** with the help of - ‘
(A) BaCl, (B} AgNOC, (C) NH,SCN (D) None of these
149. The salt of the d-block element that is used as a catalyst in the dissociation of the
bleaching powder is _
AN NE ~(B) CO (C) V (D) Cr
150. The reagent used for identifying thel ion is
(A) Potassium ferrocyanide (B) Phenolphthalein
{C) Dimethylglyoxime (D) EDTA
GO ON TO THE NEXT PAGE/ ou 18+ A 19
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151.

152,

153.

154.

155,

b |5 " "Question : 50 ]

 MATHEmATICS |

State which: of Iha_fnlllnwjng_ is-total number of relations from set A = {123 4) 4o |

setB={d e} is— T s eirdt Yo Jgv 2
(A) 2 (B) 2¢ (€28 it (D) 2%

LetA={a,b,c,d}and f: A _ Abe defined by, fla) = d, f{b) =2, flc)=bandfd)=
State which of the fqliﬂwiqgis equal to f(b]? :

(A ol = By g S R g g e o) )
It the binary operatici on Z is 'definad by a*b = a-birab+4, theri the value of (2:3)'4 s
(A) 233 . By a3 af gl BB = . {D) -55

If sin=2y — cog-ty :g + State which of the following is the value of x.2.

A -I E [ F 1L i . it

g . fig v

A g ial 2] oy = .JrE‘J"’q'

Given the LPP, Min. Z = 3x—y, - @07 M

Subject to the constraints .

e = 2X +_:3y;._1 N | i = - : - &'E’
b Eﬁﬂ y=0 '_ _' :_:r_.__-ﬂ'\-'a a8

The optimum solution ‘of the LPP is : i : & ‘L@# b
Jhaad ' _ i o

(A) x—ﬂ;vwg o {B) K—-Ua'.-'-*‘a‘ fﬂ"’%

- 1 oy . . 1 . 2- i
= —a =0 = =

(C) x= 2.y Eal (D) x=3,vy=0 %

156.

200

In a linear programming problem, the equation 2x + 3y =12 in two unknowns has
number of solutions equal to

(A)  maximum value of and minimum value of

(B) a particular value of and

(C) infinite (D) MNone of these

QU 18 “1 AL GO ON TO THE NEXT PAGE

Scanned by CamScanner




157.

158,

158,

160,

181,

162

163,

(A) K|A] B) K*|A| . (C) K |Al| (D) 3K| A

The system of equations

OX+Y+ 2 =0 -1
X+0V+Z=r—1
X+Y+02=o—1
has no solution if ¢ is

Cali (B) not-2 (C) elther ~2or1 (D) -2
10« :

Matrix A= % 1< 3.l is invertible for
k0 1|

(A) k=1 (B) k=—1 (C) allvealk (D) None of these

32 4

2 : P 1 :

fmatrix A= |1 2 —land A" = ad] A, then k is
1011 AR Nt MR

a7 ®-7 . ©

{0y 11

The mean and the variance of a binomial distribution are 4 and E'-'respectivaly. Then
the probability of 2 successes is

=g

37 219 128 28
A 255 ®) 256 © 258 D) 256
If P(A s B) = 0.8 and P(A ~ B} = 0.3, then P(A) + P(BY) equals to -
4 0.9 (B) 0.7 (C} 0.5

(D) 0.3

e A
g d *

x =X

- : 2
The value of fat x = 0 so thatfunction . f{x} = i——

7 ~= % #:0, I8 continuous at x =0,

iE 54 ':_ R
(A} O (B) log2 - (C) logd =il [~ (D)~ g€
"GO ON'TO' THE NEXT PAGE QU 18 &
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= f(x) w.r.L x at the point X is

notion ¥ = 1807 70
LA r'(x). (D) N
() F(x) ) None of the,,

yg4. The rate of ONT

(A ”%f’[-x] @) 2'(¥)

2 0 ' i
X . ¥_ _1 atthe point (2 cos 8, b ging:
tangent 10 the & a b -
165. The slope of the :

b B
b ~—fanf (D} -~ cotg
(a) = fand B) - cotd € -3 ~ cot
Af ctnnfl[x} iEI dEffﬂEfi ina «xebanda X < X, < b; then f(x) is strictly monolond
166. uncti

b when

decreasingina £ X< {E} f(x,) < f(x,) when x, > x,

hen X, = X,
E :::E;:Eﬁ:hen x: X, (D) fx) < f(x,) when x, <X,

167. f0<x< 2r, the funetion f(x) = sinx is minimum a!

A) ,,__32:1 B x=7 Q) = O) x=2x |
168. Thevalue of is _[{Goséa"éimr 2x) dx s e

w ~ZEee (B) 202X +¢

(C) -2cosec2x+c I:D} __C'Z'SE': Ex+r::

2
..'TI'.;I-'. I {
189, If [ xf(sinx) dx = 4

: 'F'[S’”a‘f] ax thEnAls aquar to .
i) = (L W j |

1=7"L—-anr~-:|!='1

(A} O (B) r:} 7 (D) 2%

- “170.:5The order and degree of- the dlfrerentr.al EquatEnn

2

5
[1+3dya .-.4':]' 3""
: Y ek

2
A 1, = 5
3 {B) 3,1 (C) 3,3 D) 1,2

22 : _
Qu 1. |
e ‘GO ON TO THE NEXT PAGE

Scanned by CamScanner



B

'y
1

171. The solution of the dlffarenttal

equation., = . . Al

‘.'u"dx+[x+xz }ﬂy‘ 0is q RO O BORM

C A e . A
A _'—'l‘lr =

¥ (B} iy ogy=¢e

AT | © (D) logy=cx.

. ax
172. if [™ sin bx de = __©

2 Sin (bx+m)+c , then the value of mis

at+h
) —tant 2 @y e 2 i e
B e, ®er s ©@uny 0 ety
173. Ifthe position vactors of the points Pand Q are 27 +  and ~3] - 4] - 5§ respectively,
then vector ¢jp is
(A) Si+4j+dk (B) 5i+4j+6k ' (C) S5T—4aj+ak (D) fi4f-dE
174. If a line whose direction ratios are proportional to 0, 1, <1 lhen the Inclination of the
,,,,, ~pfine:with. Z-axis.is o - -4 :
3 i 3 3
A} L bl 4
B2 e T ©Zz ... 0T B
S S R WS BB - e
175. I the line 1=2 2L == 1 ig parallel to z-axis then
a b c
(A) a=c=0andb#0 (B) a=b=0andc#0
TREIL ‘t.ﬁ::l. b [.:_E ’?"HE.'E"#D W ERGT {D} a-=.h E Eiﬁ-.?.::::.:.:.. i€ F!L:“- HoLBE0
RNt ANeIny-2 =z ) ol
FARREE. Sl (90 i - ;
1?'5 Thﬁ lines -1-'=%=§ and T el g AP &
(A) coincident (B} skew (C) intersecting (D) parallel

GO ON TQTHE NEXT PAGE ou 18 A 23
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177.

178.

179,

180,

181.

182.

24

= _ on the x-axis 18
Tha intercept made by the plane /- n=qgon ‘
¥ i D) Tz
W B = (€ ~7 ] f | |
i q
i gl _Jr’_ﬂ 5 E.__i is perpendicular to normaj tg thy
Value of A such that the liné =5~ 3 A

plane 7. (Ef +3f+4§) =0 is

{A]. ._,1_‘:_ (B) _E o (C) 4 | (D) HI

In the expansmn of (1 + x)", the I::lnurmal co- efhmentﬁ of three consecutive terms are

respectively 220, 495 and 792. The value of nis

S(A) 10 - = - - (BY 1 : (C} 12 2 A6 (B

The funiction of f{x) = log (x_.+ \f ?‘E? + 1) s
() eyen function ; (8) an old function . -

(C} a periodic function (D) neither an even'nor an odd function

fA={x:x=4n+1,2<n=<5}, then tha number of subsets of A is

(A)" 16 (B} 15 . Aefa .' (D) Nohe of thesé
g Bl
It f: R — R satisfies f(x +y) = f(x) + {(y) forall x, y, € Rand {1) = 7, then Z F(r}is
: 4 . |
W3 - @7 @) (D) Eﬂg.tﬁ
QU 18; A,
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5 188, ]flza 11 h3| +1thﬂﬁ2||E-3{}n A
' (A) the raal axis |

©) acircle (B} the imaginary axis
(D) an allipse -
: 4{‘?”575"’+:'s:n?5“)

184, The value ﬂf —ik
0.4 (cos 30% + / gin 1307 L

Ir-.

- 2
A Hi) @ *—I:‘h—!] St f}

\eHE T

. - kﬂ" et ot e \'l it oirigs ot e EVEN Y hAITY WO
135 Thevaluenfztsfn—-ncn_s—ﬁ'! Rt b

i
i
L
o

-
ui

8y n: IR ey BB g BRI et el R

186, 1f the roots of the quadratic equation »° + PX+g= 0 are tan 3{}“ and tan 15 respe::'tweh.r
then the value of 2 + g—pis

(A P (B 1 (C) 3 (D) 2

187. ¥ {1 - p)is a root of quadratic equaticn ¥+ px + (1= g) = 0, then the roots are
(A) 0,1 (B -1.1 S©o- D)2

=
-

188. Euhﬁi_c:n of the Ingquation 4493 ~72% <4 xeRis

i pEL L+ s
(A) -2,) B 2= .. - O [2-3] _ {B) Nonw.ot thaee

GO ON.TQ THE NEXT-PAGE . U 1B A O 25 -
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188,

190. The smallest positive intager n for which

o191,

192,

193I-:r.l i be T

184,

28 .

() -4<xs0  (8) 0<x<t (C) ._1m.:y-;1ﬂ|] fﬂ!ﬂﬂfﬂfﬁ_

o od B %
ER b SR H .l| Eyany [

The largest interval for which

I ”+1 ; ., [ f v
nl< _E" holcls is grpl o ocante

Foe

The “Ufﬂbﬂr of integral snlutluns uthyﬂ Xy s Y =.'._: [h)
(A) 0 (B) 1 (C) infiniita (D) Mone of these

How many ways are Ihere to arrange tha lanérs in 1he wurd GAR DEN wnlh the Vowels |

in alphabetical arder 2 : s ni chy

(A) 120 o (B) 240 ., IC)y3wo {D} 480

H R T Ed B 1:.-1 __ R SR T PR SR Nl e

{(A) E-Jngf.? (B} log, 2-1 (C) log 2 (D} log, [i]
i 2tnn | 67 ool 4 : - ! : £

Leta,, aE aa r;annuthetermsufarrAP  FidERAg TR

-_ a,+&2_+, 48, p? -
]f a-l ":'32 +' +Eq qz p# q i‘hE'ﬂ E EquEf.s LERI R 84 e L R e T -.'\II-..':E Ry

Ve g Ay i S e s :

0y —
4 {}11.

i

ouU 18 K U0 T e
GO ON'TO THE NEXT PAGES?
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P _ % @/ o7&

g —~A.
195 fl‘h‘a Elﬂpﬂ f the “nE !Eﬂ,mng tha : %

l

-

‘Pt A(x)2) 8hd B(5, -8) s "% then x =7
E' 2 J, ; i-,..!._:_l_!:l o
(B) _ (C) ;_EILJ .

1g6. The equation of the pe _— ,
(6, -9} Is _ Prtandkular h_'“’m“' of the line joining the points A (2, 3) and B
(A) X% 2y~gig~- - R R 1

. (BYR< 2y Lgi=ig 7 ner ding
(©) x+2y+6=0

L Ox=2y+620

T LrpaEth ay

| dm o b ek =y .: ey e Y . E_Ed_-:_ f'_.

197, A '

] 2 f'z -1, 3) and B a, 15 he the Gxtremmas ui the dlameter of the mrcle
’ +':'r Bx+ 5y -7 =0, T.hen 1ess ey A s et e
{Aj ﬂ'. __-...? B 8 e s A 150 PR o )

[B} m=?’ﬁ=_,_.3” S FRE |
(C) a=-60=7 (D) o= B Pim e 6D amestzeigr A L2

198.

If the parabola y° = 4ax passes thruugh the point Fna E‘j,’lhen thg l&ngth of its latus -
rer.tum 13 : . , . -

(A)

5 .
_ {E] ::;;' ! - o0 (G, g‘ e o e e Y o nalt rininthiy

- 199.. One focus of hyparbola is at (0

, 4} and the length of its Iransverie axis Is'6. The =
equation of the hyperbola is - e 1 g i

=™
[ =Sl

s

z 2 2
T I— oYX

yE ¥V o Y i 3 B sunfrpliot arlf fe podeifll A
b S WP g v it Gy —=—=1 DY Mone of these
2 M} - Torae Ty () = Rt T ©) T Tt ! G () A TR

200. The foci of an ellipse are (0, iﬁ] and-iﬁa.leﬁglﬁ of its minor axis is 16.The equation
of the sllipse Is -

? . x* },E -F_ : H -Fz 2=
(A) %’rgﬁ-—‘ & 5.5*&'5:1_:_ ©) 55 ea = o 64, 100 .

GO ON TO THENEXT PAGE © QuU1B A D e
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it - BIOLOGY: - * |
Quegllon:50 . off il

B rf]

1 T B A el
_FI'.'I'. Vi

151,
(A) pmkﬂntharmm {Ej Ehgﬂ!henmc

152, The Inwe st cﬂteguw Jn taxunnmlc hlerarc:h]..r is"

{ E} krn gdﬂm

I..
-|_‘. " - . .‘_' £l

{A] r.:rass r

Must pnm:twr,- number in
{A) Rhynia {EI} Fs:fm‘um

153

154, Angiosperms differ
{A}l seeds

158 Gréen gfamis :i‘re the

{A) J_nsec:ta (B} Myriapoda

156." Which tissue g’hfe me::hamcai slrength to plant organs?
(B) Cullenchyma (C) Parenchyma

: [A] Acces sary. carls

157. 4 -ln_,whrch.ﬁ;ﬁuer emetaruua,stmn&n is fnund“r‘

r—

vl

Ani mals wdh built in. thilgmﬂﬁ*ﬂtﬂﬁ“ | ': '

whmh r-:nnrs are NIDT prEEI‘II s

from. gymnosperms in having
fE} Jarge rea'uea

sxr:retcry urgans r::f

o '_.-'--
..' " ’

[GJ hnmeatherrnrc (D) bmtharmm

PR

(©) specfes (D) phylum”

(C) L,H:Erpﬂdfum ' {b}._SE.fﬁ'ng;fH .
(C)  tap.roots {D) covered seads
(D} Crustaceans

{ ) Arachnida

(D) Stomata

) Calorrapis () Sasbama (C) Datyrs D) Acalypha
158, Which of the fﬂ]lnwmg Is superficial of gaf Muscle?
(A) Trapeaus {E} Lanssmus (C) Eluteus (D) Gggtrgcnemlus

158. Durmg rnSeraimn in
“{A) " Sfigmata
{C) Spiracre andtrachea -

(A} ‘storgeggs - :
(C) keep vagina moist

28 -0U 18 -

- (D) Longityg inal

i cnn:kmach the rﬂs pnra!ury passage

(B} Ajr cham ber :
respiratory tube

(B). store sperrns
oy aecrelate the €99 case.
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Gaigl apparalus takes par[ in: Son e i TR

Ei”

() Carbohydralesynthesls . (B) Lipld synthesis '

(C). Protein synthesis-_ {D} nydatwa phmbphﬂsphummmn
1g2. The longest living cells amnngsl the [ﬂllDWIng are

A) Tcells - (8) Boolis .+ (C)Memorycels (O)’RBT

TR e lred yi ] ke Ay As {#4)

163. Mitochondria increases:in the cells of .-+ . 7 7 e VDTS s

(A) dry seed (B) dormant seed I

{G} gErt“”'I.atll"lg EEEId e L H A L -rlD:I rlpE!l‘Ilng IrUitS R 1 _!':,_.-5.-!.:'-. I.-.| e

-] :r-\i. 14 5%t i
PR a - ;

164. What holds the ribosomes tagethermapo]ynbnsﬂme‘?
(A) ~mBNA-; EE]I rRNA ; [Gj tHNﬂ e {E:I rnFIMA rﬁm &tFIHA
165. Same 1n|::rga*1u:. NS are réquired for Enzyme anf.lwty These mnl‘ganm substances
are _ o
w (A). E"J"IE"H‘IE - ro(BYreo-factars L © {G} ﬁmﬂlhahcgrﬂup 1D} hr:iwalnr t
166. Dlplmd.bhramusnme numb e’r I::e'fng 8, what sh all pé the numhar ar ch r-::matldﬁ in each
daughter after, Meigsis=l 77 ke

{A) 2 (B) 4 T {c} a : (D) 16
Pried L o LR g 1o ..‘.-;- o e | EEM L EE S o ..-.-'.". {osy 1k o
167. - Potassium’ion axchange h'g.rpc:th esis of opening: and :::Icml ng of stamata was prﬂpnsed
by ;
s h(A) - Sayrer i (B Etewan vz [G) Levht e -{D] Edstan-
e = ’.. |'1 ¥ |

168 If-acell ‘}':LhE.E r.‘:p—-ﬁ and TF’-E éncl s s‘“urmuncied tﬁfthe cell’ wrlh ‘np..dr and TP..E
then what will be the direction of waler m-mrement‘?
(A) From oiber: cell torcell 3 1 + (B): From cell "Kito mherncell Foand
{B): - Walet absorptionds-nat affeciecl I::},r Iemperaturel. St
(D) Waler will move fmely IR

hE IrI 5& e B -'-..':-:J'.:'?”x- 2
169, =Bidirettional translocation: af! m:neralsta}cas pla::e ihmugh T 4aaieY LA
(A} xylem [E} phluem {C] parennhyrna {D {;ammum
ng e ppa ritiw noiau ool slLneg M 3 I* Al gh anifdned &
170. The intermediale between Gig.rculysls and TEA n:ycle is 8 T A
{A): Oxaloacetate - 0 ¢ & ' (B) Glucose-1-6 diphosphate :
(C) F':,rruvlc ar.:ld T_ {ﬁ H:Qh“l l:r_:A £ :

EGDNTG*THENE}{TFAEE " ou 15'-:-}&;_ S Y

- -F'n'
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171, Out of 38 ATP molecules

"}

NADH/FADH,in. « - S
w0 (@) -Respiratory.chain . .~ (B) l{rei:rs nycle L
(C) Oxidative decafboxylation (D) EMP -
172. The maximum growth rate occurs in Bt :
(A) exponential phase (B) lag phase
(C) sl.'atmnarr phasa (D) senescent:phase @i -

173. Mobilisation of sturecl fund in germlnat:ng seed is tnggared h}f o i
(A) Auxin {s} Cy‘mkmln {L} G|bberellln {D} Ethy!ene

to the hormone

produced per g1ucﬂse 22 P.TP mﬂlecules are. fDITned fra

174, :Digestive enz:.rm es are mleased I:Fy' pan ::reas and l:ure.- is reieas ed by IWEI' in i‘Eﬁpnﬁsq

|

=AA) Zymogen . (B) Cholecystokinin (C) Insulin _ (D) Secretin |
175. ﬁ:gr Q, diffusion into pulmonary capillaries; it diffused into____ . and binds
. A) RBC, haamuglabm e 2100 (B) RBC, CO, .
(C) interstltlal fluid, CD (D) [nterstltsal ﬂuu:i HE-,C
176. |If uagusfparasympathetm nenre to heart is cut, the heart beat will
A SO e - ~(B) remaln nommal (C). increase ~ (D) decrease
177. Which:of the followi ion ¢ sxerétior |
it ollowing hormones causes reabsorption of Na* and excretion of K+, H*
T ot e L pye oo L (B)FSH -' {'G] .TEH g {D} Aldnstemne '

178. Which of the following ammais hawng |nng|tud|nal I:unary flssmn‘? TR

(A) Hydra (B) «Plasmodium - (G Faramaecim [D'_l Eug.ren.'g
179, ‘u;ege:;ftwa propagalion in mint occurs by . :
feet B): Runn g
:"l:! :l T1y Lk i { j I .|ET-.- N ][G} Euck&r*:: " {?}ﬁh'mﬁ“
180. z:;ﬁﬁrﬂf an ﬂrga_nlsm frum a sangla malg garngta withnut fusb.':n with-egg m an
(A} -Apogamy:: ; | {E!} FE.rThEnUQEHEEIE {C) FEFlhEI'IDL‘-Ele}" [D} leuspury :
Diis 9y 1% |
| f.ﬁﬂ OuU 181 A :'Gﬂ*DN';[G'THE NEXT PAGE

Scanned by CamScanner |




: 5'1, pecr TJET ;n tlevah of which of tha following causes menstruakflow?: R,

~{p) [Progesterone  (B) Vasoprassin  (C) FSH 1) (D). ﬂ?f!l"t‘:'d"
go. Spermatozoa are nourished during development by. 11« R kL
(A) Leydigeell. ((B) Serolicel  (C)Germinal eplthehum (D): Mnluchﬂﬂdﬁﬂ
frpinh al f).0.5 ST

183.. :Genital warts STD is a viral disease and is caused hy braray !

(A) Trichomonas vaginalis (B) Treponema pallidum
{Cy Human papilloma virus - v DY Cﬂf&mydaa trdﬂhﬂmaﬂs vl
EERE TR B e] MO R 8- fuldasa % ey
184. The techrique f‘"‘”fdﬁamcte .1r.ra{aflnp|an+rﬁnafEr{GlFﬂitﬁecummsnded for those
{femalas
(&) whe - .iunotretain foetus insidesuterys 5ol nage SnTd e PS¢ :
(B) wWho cannot produce ovum: 1 TG u (& IR ;
(C) who cannot provide suitable enunmnment for fertﬂlzatmn i
i i (D) whose cervical canal is too narrow, tn‘-alinwpassagﬂ for sperms® L
nafsisl ! STFE TR
185. A melhod of birth! c:untrui ig= "-J f:,l ol S ASE
(A) TUDsE S (8) HUF (C) IWF-ET &7 I{D} GIFT-
186." The'linked characters wculd aiwaj,rs irHerittogether till theyaré - 0 el
2EE(AY mutated L R (BY delinked due to sagregatmﬁ
{E} separated due tc:'-:rus;i_rjg over .. (D) masked by _t!urnlnance a3t
g ph Pl T g e T R F - I otk s T |
v i e T DB THISNRD IEE r,.i. 403
187. Down's ayndruma IE a!yplcai case of e EalRER (D
' (A) Mulhsnmy {B). Munusumy (C)., Gene mutatnnn (e } Tusum-,r
1g8. Leading strand during. DNA replmatmn isformed. . ... 50 Broerios ah PRl
arsiil (&), in. shﬂrt sagmant ..... e [E} mmlnuuuslyh el Uy
e first ' {Dj ahaad of replmatmn =
berijon B CLZENT enfn e A B e TER P o R = L S
o ~rlmitd 0 ; atitinkt. (5 amm8 1A
1887 Ned- Dranwmsm believes that new species dewelnp through
(A) mutations with natural selection G
(B) continuous variations wlth natural selection Ty - ol
- 14 'k B
(C) hybridisation {D} mutations
arlt io L (3] yhilshen () gres v eazr FEY o yhisIER 1A
GO.ON TO THE NEXT PAGE _ ou e ua | 131

Scanned by CamScanner



190,

181,

Genetic drift operatas |n -ssesses pgpumtiur;c‘:} o (D) mend alian 1|
{A)} ‘=mall (B) large ; |
|
ik e '|
ing i in periodicity? L p alariae
1 :’:?l-‘-‘::‘.‘r L:I;?afu[f?WrFEg}ls;ﬁEn it {C) P. jalcipaium (D)

182,

193,

194,

185,

196,

197.

198

199,

rae

: iation
++. (C). -Somaclonal variation . ., - (D) Tissue tullure varia

E.C.G; ls vaceine against | : G Chicken pox
(A) Typhoid  (B) Tuberculosis . = (C) German mugsIEE{ )

In tissus cullure variations appeared are B o
(A) Somatic variation (B) Clonal varia

A common bio control agent for the control of plant diseases is
(&) Bacillus (B) Trichoderma  (C) Baculovirus -~ (D). Gmmr_‘rs |
The Tﬂﬂh_nique-:f&h-t.:reéhége. nf -.ﬁMA;fraginént.and inserting: it into. dndlher DNA
molecule, is related i :

(A) Gene clening (B) Gene typing |

(C) Genesplicing - - (D) DNA, %o iprinting

Which type ﬂif-f._E.SIf iction enzymes are.used in recombinant DMA technology?

(A),- Type-l .. .. .(B) Type-i|: (C) Type-Ii (D) All of these

Which of the following bactefia has found extensive use in ‘genetic engineeting work
In plantsibest genetic vector used In plants ? . _ _
(A) Bacillus thuringiensis (=Y Xanthoimonas Gitff e

(CY~ Agrobactériim tumétadiens (D) E. coli
An abnormal gene is replaced by normal'gene. [t is calleq’ !
(A) . Gene therapy (B) t:;uning (€) Mutation

ipcln i Bl (D) Noneaf these
Geographic limit within which a population exists is called U

<)) Bloma " {B) Hebhat L |, Ecosystem
AN _ . i -..i!. PR T 5 '“,
m:ﬂ_.represe_nts G B RIRITRW BT ShE 2ub Ol

(A} Natality (B) Growlh rate (C} Mortality (D) Al of these
ou 18" LA _ AT THOA 260 ~
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